
Time: 10 Minutes Paper Math 4 Total Marks: 10

4th  Month, 3rd Week, 6th Day Revision Test Syllabus (Third week)

Q.No.1 Encircle the correct answer from the following choices. (5)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

(i) 8.2 × 10 = __________.

(a) 82 (b) 8.2 (c) 8.20 (d) 8200

(ii) 3.4 × 3 = __________.

(a) 10.3 (b) 10.4 (c) 10.2 (d) 10.5

(iii) 8.4 @@@@ 6 = __________.

(a) 1.4 (b) 1.5 (c) 1.6 (d) 1.7

(iv) When we round off 76.4 to nearest whole number, we get:

ÃÃÃÃŒŒŒŒÛÛÛÛRRRRåååå°°°°ŠŠŠŠJJJJ----öööözzzzŠŠŠŠ™™™™,,,,ÂÂÂÂqqqqÝÝÝÝƒƒƒƒ@@@@****ìììì:::: 76.4 ZZZZ####ëëëë

(a) 76 (b) 77 (c) 78 (d) 80

(v) When we round off 3498 to nearest 100, we get:

JJJJ----öööözzzzŠŠŠŠ™™™™,,,,ÂÂÂÂqqqqÝÝÝÝƒƒƒƒ@@@@****ìììì:::: 100 ÃÃÃÃŒŒŒŒÛÛÛÛRRRR 3498 ZZZZ####ëëëë

(a) 3500 (b) 3600 (c) 3200 (d) 3800

Q.No.1.   The length of one piece of rope is 7.2 m. Iram cuts this rope into 4

equal pieces. What will be the length of each piece? (2)

••••zzzzVVVV~~~~»»»»RRRReeeeSSSSììììXXXXCCCCÙÙÙÙ••••}}}}ÅÅÅÅMMMMððððXXXXƒƒƒƒÏÏÏÏ???? 4 ¢¢¢¢aaaaììììXXXXZZZZggggxxxxZZZZÐÐÐÐ 7.2 ggggÏÏÏÏÆÆÆÆZZZZqqqq----••••}}}}ÅÅÅÅMMMMðððð  ::::1 ÎÎÎÎZZZZwwww����

Q.No.2.  Round off the following to nearest 1000. (2)

JJJJ----öööözzzzŠŠŠŠ™™™™,,,,:::: 1000 ::::ŠŠŠŠgggg̀`̀̀ffffssssÃÃÃÃŒŒŒŒÛÛÛÛRRRR 1 ÎÎÎÎZZZZwwww����

(i)   1212        (ii)    4545
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